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The idea of dialectical change was
developed on

(A) Kimbal Young
(B)
(C) Malinowski
(D)

Hegel

Radcliffe Brown

. Which of the following answer codes

include all the agencies of socialization ?
1) Family

2) School

3) Church

4
5

)
)

) Peer Group
)
6) Political Party
)
)
)
)

Police

(A) 1,2,4and 5
(B) 1,2and 3

(C) 1,2,4and 6
(D) 1,2,3and 4

. According to Kingsley Davis and Wilbert

Moore statification is functional and helps
in the following

(A) Effective Role allocation
(B) Effective performance

(C) Effective Role Allocation and
Performance

(D) Power and Rewards
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4. Match the following books with the
authors.

a) Neil Smelser i) Aninvitationto
Sociology
ii) Sociology-An

Introduction

b) Peter Berger

c) Ogburn and iii) Modern
Nimkoff Sociology
d) Alex Inkeles iv) What is
Sociology ?
v) A Hand Book
of Sociology
a b c d
(A) i iv Vv i
(B) ii i vV v
(C) iii v i i
(D) iv v [ iii

5. The organized relationships between the
basic components of a social system is
called

(A) Social Interaction
(B) Social Relation

(C) Social Structure
(D) Social Organization

6. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below

Assertion (A) : Radical Feminists
tend to believe that
women have always

been exploited.

: For radical feminists
gradual change with
the help of male sex
offer the possibility of
their liberation.

Reason (R)

(A
(B
(C
(D

Both (A) and (R) are correct
(A) is correct but (R) is wrong
Both (A) and (R) are wrong

~— Nt e

(A) is wrong, but (R) is correct
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7. According to Summer the institutions

that evolved spontaneously are called
and that are consciously
planned are called

(A) Primary and Secondary
(B)
(C) Secondary and Primary
(D)

Crescive and Enacted

Enacted and Crescive

8. What are all the class grouping that exists
in a capitalist society according to Max
Weber ?

1) The propertied upper class

2) The propertyless white collar
workers

3) The petty bourgeoise
4) The manual working class
5) The middle class

(A) 1,3and5

(C) 1,4,and 5

(B) 1,2and 4
(D) 1,2,3and 4

9. Match List-l with List-ll and select the
correct option from the codes given below.

List—1 List—1I
a) Antonio i) Asylum
Gramsci
b) Husserl ii) Indexicality
c) Garfinkel i) Subaltern
d) E. Goffman iv) Life-world

a b ¢ d

(A) iii v ii i
(B) iii iv i i
(C) v iii ii i
(D) iv i i i
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10. Which of the following is an incorrect
statement concerned with Emile
Durkheim ?

(A) Sociology is a science of social facts

(B) Social facts must be regarded as
things

(C) Social facts are external to the
individuals and Exercise a
constraint on them

(D) Social facts are internal to the
individuals
11. Match the following.

a) Statistical
Aggregates

i) People who hold
similar statuses

b) Social categories ii) A group of
individuals who
have personalities

c) Social Groups iii) People grouped
together by
others but
having no

personalities

d) Primary Groups iv) People who
interact
according to
related roles and
their statuses,
share similar
beliefs and feel a

sense of

belonging
a b c d
(A) i iii iv i
(B) ii i i v
(C) iii i iv i
(D) iv i i i
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12.

13.

14.

15.

Talcott Parsons has identified three types

of action. They are

(A) Cognitive action, Evaluative action
and Rational action

(B) Cognitive action, Moral action and
Rational action

(C) Instrumental action, Expressive action
and Moral action

(D) Instrumental action, Rational action
and Instinctive action

Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below.
Assertion (A) : Social Mobility is
significantly higher
in industrial societies
than non Industrial

Societies.

. Industrial Societies are
therefore sometimes
described as ‘Open’.

) Both (A) and (R) are correct

) (A) is correct but (R) is wrong

) Both (A) and (R) are wrong

) (A) is wrong, but (R) is correct

Reason (R)

(A
(B
(C
(D
Which of the following conceptis associated
with C.W. Mills ?

(A) Empiricism

(B) Functional Imperatives

)
(C) Sociological Imagination
(D) Symbolic Interactionism

Who among the following Sociologists
supported ‘Evolutionary Theory’

1) August Comte

2) Herbert Spencer
3) Emile Durkheim
4) P. Sorokin

5) Alfred Krueber
(A) 1,2and 5

)

(C) 2,3and 4

(B) 1,2and 4
(D) 1,2 and 3
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16. Max Weber stratified the capitalist society
in terms of
(A) Class, status and party
(B) Caste, class and status groups
(C) Class, status groups and Race
(D) Caste, class and Race

17. Match the following :

a) Norms that are not
strictly enforced

b) The ideas people ii)
consider vital
c) The rules that iii)

govern individual
behaviour in society

d) Rules that reflect iv)
important values

i) Value
Mores

Norms

Patterns

v) Folkway
a b c d
(A v i i
(B)
(C) i iii iv v
(D) iv i i i

i iii Y iv

18. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below :
Assertion (A) : The Book ‘Elementary
Forms of Religious
Life’ was authored by

Herbert Spencer.

: The above book
is an interpretation
of religion from a
functional perspective

Both (A) and (R) are correct

(A) is correct but (R) is wrong

Both (A) and (R) are wrong

(A) is wrong, but (R) is correct

Reason (R)

(A
(B
(C
(D

19. According to which of the following
Sociologists social evolution proceeds
from military society to industrial society ?
(A) Auguste Comte
(B) Herbert Spencer
(C) Max Weber
(D) Karl Marx
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20. Who among the following Sociologists
defined community as following in that

order ?

Definition | : ‘The smallest territorial
group thatcan embrace
all aspects of Human
life.

Definition Il : An area of social
living marked by
some degree of social
cohesion

Definition Ill : A group or collection of
groups that inhabits a
locality.

1) Bogardus

2) Kingsley Davis

3) Karl Manheim

4) Ogburn and Nimkoff

5) Mac lver

(A) 1,4and5 (B) 2,3and 4

(C) 5,3and 4 (D) 2,5 and 4

21. Match the following.
Sociologist
a) Bogardus
b) Thurstone

Scale
i) Summated scale
ii) Attitude scale

c) Likert iii) Social Distance
Scale

d) Guttman iv) Differential scale
a b c d

(A) i i v i

(B) i i i v

(C) iii v [ i

(D) iv i i [

22. According to Robert Merton, the ritualism
exists when an individual

(A) Rejects the cultural goals but accepts
institutional means

(B) Accepts the cultural goals but rejects
institutional means

(C) Rejects the cultural goals and
institutional means

(D) Accepts the cultural goals and
institutional means
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23. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below :
Assertion (A) : W.F. ogburn made
distinction between
material and non

material culture.

Reason (R) : Generally the non
material culture is more
resistant to change
than the material
culture.

(A) Both (A) and (R) are correct

(B) (A) is correct but (R) is wrong
(C) Both (A) and (R) are wrong
(D) (A) is wrong, but (R) is correct

24. Sociological Imagination is an awareness
of the relationship between a/an
(A) Group and the wider society
(B) Community and the wider society
(C) Individual and the wider society
(D) Association and the wider society

25. According to Emile Durkheim the fields of
enquiry of Sociology are
1) Social Morphology
Social Pathology
Social Process
Social Philosophy
General Sociology
1,2,3and 4 (B) 1,4and5
1,2 and 3 (D) 1,3,4and 5

3
4
5
(A

2)
)
)
)
)
(C)

26. The mean of a distribution is X . If all the
items in that distribution are multiplied by
a constant N, The Arithmetic Mean of the
resulting series is given by

(B)
N (D)

(A)
(C)

Z|><

X+
X x

x| XI
NE

+N
N
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27. Match the following.

Books Authors
a) Globalization i) Anthony
Giddens
b) Global culture ii) Immanuel
Wallerstein
c) Historical i) M. Featherstone
Capitalism
d) The Transformation iv) R. Robertson
of Intimacy
Codes :
a b c d
(A) iv i iii i
(B) iv i i [
(C) i i iv i
(D) iii i iv i

28. From which of the following the sum of the
deviations from the values would always
be zero
(A) Median
(B) Mode
(C) Arithmetic Mean
(D) Geometric Mean

29. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below.

Assertion (A) : Paretoclassifiedactions
into logical actions and
non-logical actions.

: He termed the rational
explanations for non-
logical actions as
derivatives.

(A) Both (A) and (R) are correct

(B) (A) is correct but (R) is wrong

(C) Both (A) and (R) are wrong

(D) (A) is wrong, but (R) is correct

Reason (R)

27. 52 (308 773 3BRSWOH0.

(flogren TRoB0
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3 506300
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30. Who described the phenomenon
of globalization in today’s world as
‘globalisation of nothing’ ?

(A) George Ritzer

(B) Jean Baudrillard
(C) Anthony Giddens
(D) Michel Foucault

31. Match the following perspectives of
Sociology with that of its proponents.

i) Symbolic Interactionism 1) Talcott

Parsons
ii) Functionalist 2) Wright
Mills
i) Conflict 3) Mac lver
4) Max
Weber
i ii iii
A2 3 4
B)y1 2 3
(C)4 1 2
(D)1 2 4
32. Match the following :
Concepts Sociologists
a) Breaching i) Erving
Experiment Goffman
b) Life World i) Peter
Berger and
J. Luckman
c) Dramaturgy i) Herald Garfinkel

d) Social Alfred Schutz

construction

iv)

Select the correct answer from the codes given
below :

Codes :
a b c d
(A) i iv ii iii
(B) ii i i iv
(C) v iii i i
(D) iii v i i

12

30. Ru8 (©BHoBes” Ko (BBoRsSE GYHEITY
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B)1 2 3
(C)4 1 2
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Sf&es
a b c d
(A) i iv ii iii
(B) i i i iv
(C) iv i i i
(D) iii v i i
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33.

34.

35.

The term “Mortification of the self” was

used by

(A) C. W. Mills

(B) William Sumner
(C) Harold Garfinkel
(D) Erving Goffman

Choose the correct answer based on the

two statements Assertion (A) and Reason

(R) given below.

Assertion (A) : Durkheim introduced the
concepts of Mechanical
and organic solidarity.

Reason (R) : He states that organic
solidarity arises out
of similarity among
members.

(A) Both (A) and (R) are correct

(B) (A) is correct but (R) is wrong

(C) Both (A) and (R) are wrong

(D) (A) is wrong, but (R) is correct

Which of the following are not concerned
with the function of self, as described by
G.H. Mead ?

(A) Communication and analysis of the
situation

(B) Self-direction and self-control
(C) ldentity and self -judgement

(D) Social control and social order

13
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36. Who defined Sociology as below and in
that order ?

Definition | : ‘Sociology is the study
of systems of social
action and their inter
relation’.

Definition Il : ‘Sociology is the
Scientific study of
the social aspects of
human life’.

Definition lll : ‘Sociology is the
study of man and his
human environment
in their relation to each
other’.

1) Kingsley Davis

2) Alex Inkles

3) Henry Fairchild

4) Kimbal Young and R.W. Mack

5) Ogburn and Nimkoff

(A) 2,4and 3 (B) 1,3and5

(C) 2,3and 4 (D) 3,4and 5
37. Match the following.
Research Work Sociologist
a) Indian village i) McKim
Marriott
b) Village India i) S.C. Dube
¢) The Indian Village iii) H.S. Maine
Community
d) Village communities iv) Baden

in the East and West Powell
Codes :
a b c d
(A) i iii ii iv
(B) i i iv i
(C) iv i iii i
(D) i i iv il

38. Amongst the following who has given a
six fold classification of traditions in India
to evaluate changes in rural and Urban
India

(A) M.N. Srinivas
(B) S.C. Dube

(C) McKim Marriott
(D) Robert Redfield
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39. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below.
Assertion(A) : W.F White

used Participant

Observation Method.

: Hestatesthat he started
as a non-participant
observer and gradually
became almost a non-
observing participant.

(A) Both (A) and (R) are correct

(B) (A) is correct but (R) is wrong

(C) Both (A) and (R) are wrong

(D) (A) is wrong, but (R) is correct

Reason (R)

40. Who advocated modernization and
development are radical processes of
change in technology and culture ?

(A) Zygmunt Bauman

(B) Jean Francois Lyotard

)
(C) Samuel Huntington
)

(D) Jean Baudrillard
41. |dentify the concepts with which Pareto is
associated
1) Residues
2) Iron Law of Oligarchy
3) Lions
4) Power elilite
5) Derivatives
(A) 2,4and5 (B) 1,3and5
(C) 1,2and 4 (D) 1,2,3and 4
42. Who contributed the essay “Modern, Anti,

Post and Neo : How social theories have
tried to understand the ‘New World’ of our
times ?”

(A) Jurgen Hebermas

(B) Erik Olin Wright

(C) David Harvey

(D) Jeffrey Alexander
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43. Match the following.

Authors Books
a) Anthony Giddens i) For Marx

b) Michel Foucault ii) The
constitution
of society

¢) Jacques Derrida i) The Order of
Things

d) Louis Althusser  iv) Writing
and
Difference

Codes :

a b c d

(A) i iv i i

(B) ii i iv [

(C) iv i i iii
(D) ii i iv i

44. \Who stressed that ‘The text is not final but
the context’ ?
(A) Heidegger
(C) Saussure

(B) Gadamer
(D) Derrida

45. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below :
Assertion (A) : A hypothesis should
be stated in a testable
form.

. Ahypothesisthatcannot
be tested is called a
‘null hypothesis’.

(A) Both (A) and (R) are correct

(B) (A)is correct but (R) is wrong

(C) Both (A) and (R) are wrong

(D) (A) is wrong, but (R) is correct

Reason (R)

46. Alfred Schutz interested in documenting
the transition from
(A) Indirect to direct

(B) Structured to unstructured

(C) Direct to Indirect

(D) Unstructured to structured

43. 5z (300 T3 e3BISTORw.

(flod SRoodew (flogren
) @& A%, i) 96 556,
b) 2wPS FE° ii) & s SReTRS e
:3@93

iii) & esgb esh Qobyy
iV) Bedoh eok G300,

C) 30 adw
d) orond eertd

&
a b c d
(A) i iv iii i
(B) i i iv i
(C) iv i i iii
(D) ii i iv i
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47. Arrange the following in chronological
order based on their year of birth and
identify the correct code.

1) Radcliff Brown 2) Comte
3) Marx 4) Durkheim
5) Max Weber

Codes :

(A) 3,2,4,5and 1
(B) 2,3,5,1and 4
(C) 2,3,4,5and 1
(D) 2,4,3,1and 5

48. Based on the following statements choose
the correct answer.

Statement| : Individual Extreme
values always influence
the mean.

Statement Il : Individual Extreme
values cannotinfluence
the median.

(A) Both | and Il are correct
(B) Il is correct but Il is wrong
)

(C) lis wrong, but Il is correct
(D) Both I and Il are wrong

49. Husserl’'s phenomenological reduction is
not conditioned but rather
(A) Static

(B) Flexible

(C) Rigid

(D) Transcendental

50. Identify the correct sequence in conducting
research from the following.
1) Hypothesis
2) Analysis of data
3) Data collections
4) Formulation of the problem
5) Coding
6) Review of literature
(A) 4,1,5,6,3and 2
(B) 6,4,3,1,5and 2
) 6,1,4,2, 3and 5
) 4,6,1,3,5and 2

(C
(D

47. 5o (S0 ISGWES VIPRTYDE oS0 T°0
Do), &35y HODBT® BT ¥ EH0S"
@BEN00..
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|
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)
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6,1,4,2, 3 500a0 5
4,6,1, 3, 5 5008a» 2

(
(
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A-22-18



51. Match the following.

Schutz’s Life world Meaning
a) Umwelt i) Fellow men
b) Mitwelt i) Contemporaries
c) Vorwelt i) Predecessors
d) Folgwelt iv) Successors
a b c d
(A) i i i v
(B) ii i iv [
(C) iii v i i
(D) iv i i i
52. is a prime example of inter

subjectivity which implies a shared feeling
of care and affection.

(A) Intellect
(B) Beauty
) Love
) Self

(C
(D

53. Identify the measures of dispersion from
the following.

1) Mean

Mean Deviation
Range

Standard Deviation
Median

2,3and 4

1,3and 4
2,3,4and 5

1,4 and 5

AW N

> o1

(
(B
(C
(D

54. According to Habermas, the growth of a
commercial mass media results into

(A) Decay of self-interest
(B) Decay of public sphere
(C) Decay of consensus
(D) Decay of capitalism

51. 208 773 esBREBa50.

?’.:pe;i- BB [Pove wgo
a) a3g i) &ed D0wo
b) 205G i) $505°8s0en
c) S63§ i) $3eEcEe0
d) Fg>d V) oo
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(A) i i i v
(B) ii i iv [
(C) iii v [ i
(D) iv i i i
52. 35059 BTGy &HITESE0

2.8 (RETO0 GO0l Dodge HSo00k0
@5“501366 GI20E); wﬁi)ngo?s ARNINISG

B D08
(A) 282 (B) esocso
(C) (oo (D) 250 esio

53. 59 ($08 T3S iAo SFoSrT N0
oBOBIB0.

1) @08 o500

)

)

)

) SogsyTEHa

) 2, 3 55805 4
) 1, 3 50805 4
) 2,3, 4 50805 5
) 1, 4 55805 5

54. Trab5od (3500, ¥ Tredey SR Jodakr
O HOBOT
(A) S0 es58 §e35000
(B) eri’so $e3000
(C) Dsdroso $e35500
(D) exedad S5 &80

A-22-18



55. Match the following.

Trade Union Year of

establishment

a) Kamgar Hitwardhak 1) 1890
Sabha
b) Amalgamated Society

of Railway Servants

2) 1897

c) Printers Union of Calcutta  3) 1905
d) Bombay Mill Hands 4) 1910
Association
a b c d
(A) 3 1 4 2
B)4 3 2 1
(C)4 2 3 1
(D) 3 4 2 1
56. Identify the qualitative variables from the
following.
1) Sex
2) Income
3) Age
4) Marital Status
5) Caste
(A) 1,2,3,and 5 (B) 1,4and5
(C) 2,3,4and5 (D) 3,4and5

57. ldentify the propositions introduced by
George C. Homans in his Social Exchange
theory.

1) The success proposition

2) The exchange proposition

3) The stimulus proposition

4) The Rationality proposition

(A) 1,2and 3 (B) 2,3and 4

(C) 1,3and 4 (D) 1,2 and 4

58. ‘Epistemological Break’ of Althusser
differentiates
(A) Karl Marx and Hegel
(B) Karl Marx and Althusser
(C) Young Marx and Matured Marx
(D) Karl Marx and Engels

55. 5+ (308 773 esBdSToRw.
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59. Anthony Gidden’s structuration theory
examines

i) Structure ii) Action

i) Modality iv) Interaction
(A) i, ii, iii and iv

(B) ii and iv only

(C) ii, iii and iv only

(D) i, iii and iv only

60. Which of the following work does not
belong to Derrida ?
(A) Of Grammatology
(B) Writing and Difference
(C) The Archaeology of knowledge
(D) Speech and phenomena

61. Match the following.

Performance Appraisal Inventor
a) Linear rating scale 1) Joseph
Tiffin
b) Forced Description  2) John
Method Flanagan
c) Assessment Centre 3) Simoniet
Method

d) Ciritical Incidental Method 4) Jucius
a b c d

(A

(B

i QU N
_ DN DN -4
W wND D
NN W Ww

(
(

g O

62. Who has evolved the method of
‘Management By Objectives’ (MBO) ?
(A) Peter Drucker
(B) Simoniet
(C) Joseph Tiffin

(D) Jucius
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63. Choose the correct answer based on the

two statements Assertion (A) and Reason

(R) given below.

Assertion (A) : To establish the validity

of a test, the same test

is administered to the
same people again.

: Validity means that

the test measures

what it is supposed to

measure.
A) Both (A) and (R) are correct
B
(C
(D

Reason (R)

(
(B) (A) is correct but (R) is wrong
B

)
)
) Both (A) and (R) are wrong
)

(A) is wrong, but (R) is correct
64. Who is the author of the study entitled ‘Of
Peasants, Migrant’s and Paupers’ ?

A
B
(C
(D

(A) Jan Breman

(B) James Manor

) Washbrook

) Alexandar

65. Arbitration is not the same as following

i) Judicial Court

ii) Alternative Dispute Resolution

iif) Mediation

iv) Expert Determination

(A) i, i, iii, iv

(B)

(C)
) i

(D

iii, iv
i, ii
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66. Match the following.

Tenancy System Existed
before Independence in the area of
a) Ryotwari i) Agra and
Audh
b) Mahalwari i) Bengal,
UP and
Bombay
Presidency
¢) Jamindari iii) British
Madras
d) Jagirdari iv) Princley
States
of Rajastan
v) Andhra
Pradesh
a b c
(A) i i iv
(B) i i v v
(C) iii i i v
(D) iv i i v

67. International Women’s Day is celebrated
on

(A) 8" August
(C) 8" March

(B) 8" May
(D) 8™ October

68. “Caste, class and power’ was a study on
village and was authored

by
1) Sripuram

2) Shamirpet

3) Rampura

4) M.N. Srinivas
5) Andre Beteille
)
)
)

6) S. C. Dube
(A) 2and 5
(C

(B) 1and 5

1 and 4 (D) 3and 6
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69.

70.

71.

Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below.

Assertion (A) : Selecting a sample
giving every member
equal chance of being
selected is known as
convenient sampling.

Reason (R) : Convenient samples
are used to test
hypotheses.

(A) Both (A) and (R) are correct
(B) (A)is correct but (R) is wrong
(C)

(D)

Both (A) and (R) are wrong

(A) is wrong, but (R) is correct
The capacity of a woman to give birth is
called

(A) Fecundity

(B) Womanhood

(C)

(D)

Fertility
Motherhood

Which of the following are top two states
that recorded decline in rural population
during the decade 2001-11 ?

1) Sikkim 2) Goa

3) Nagaland 4) Kerala

)
)
(A) Sikkim and Nagaland
(B) Kerala and Goa
(C) Goa and Sikkim

)

(D) Nagaland and Kerala
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72. Match the following :

a) Kathaleen Gough i) Peasant
Movements
in India

b) D. N. Dhanagare ii) Peasants and
Revolution

¢) Hazma Alavi iii) Indian
peasants :
struggles and
Achievements

d) A. R. Desai iv) Indian peasant
uprising

v) Peasant
Strugglesin
India
a b c d
(A) ii i v v
B) i v v il
(C) i iii iiv
(D) iv i i %

73. Who first used the concept of informal
organization in Hawthorne experiments ?

(A) Robert Owen
(B) Charles Fourier
(C)

(D)

Elton Mayo
Hendry Ford

74. ‘The Hindu Jajmani System’ was authored
by and was first published in
the year

1) Henry Sumner Mrine
2) William Henricks Wiser
3) Gilbert Slater

4) 1924

5)

6)
(A)
(C)

(B) 2and 6
(D) 1 and 5
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75. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below.
Assertion (A) : Absenteesim signifies
the absence of an
employee from work
when he supposes to
be at work.
: Absence may
be authorised or
unauthorised,
wilful or caused
by circumstances
beyond one’s control
(A) Both (A) and (R) are correct
(B) (A) is correct but (R) is wrong
(C) Both (A) and (R) are wrong
(D) (A) is wrong, but (R) is correct

Reason (R)

76. The death of children below 1 year age is
known as
(A) Neonatal mortality
(B) Child mortality
(C) Pre-mature mortality
(D) Infant mortality

77. Arrange the following in ascending
chronological order.

1) Nirbhaya Act

2) Prohibition of Sexual harassment of
women at Work Place Act

Domestic Violence Act

3)
4) National Commission for women
(A) 4,3,2,1 (B) 4,1,2,3
(C) 1,4,3,2 (D) 2,3,1,4
78. Who among the following developed the
‘Push-pull’ theory of migration ?

(A) Ravenstein (B) W. E. Moore
(C) Everette Lee (D) Kingsley Davis
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79. Who among the following are the followers
of optimum population theory ?

y
2

Notestein
Dalton

4) Carr Saunders
(A
(C

1and 2
3 and 4

(B) 2and 4

)
)
3) Kingsley Davis
)
)
) (D) 2. and 3

80. Match the following.

a) Number of births 1) CBR

per 1000 women
of reproductive age

b) Average number 2) GFR

of children that would
be born to a woman
over her life time

¢) Number of children 3) ASFR

born per 1000 population
4) TFR

1 2
1 2 4
81. Who among the following held that

population growth takes place in geometric
proportion ?

(A) Dalton
(B) Thompson
(C) Malthus

)

(D) Notestein
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82. Which of the following is true of developing
countries like India ?

1) High Birth Rates
2) Low Birth Rates
3) High Death Rates
4) Low Death Rates
) (B) 2and 4
) (D) 1 and 4

(A) 1and 3
(C) 1and 2

83. A barrier that prevents women from
achieving highest positions in an
organization is known as
(A) Second shift
(B) Glass ceiling

(C) Gender typing

(D) Gender stratification

84. Who wrote, Vindication of the Rights of

Women ?

(A) Betty Friedan

(B) Kate Millet

(C) Marylin Frye

(D) Mary Wollstonecraft

85. Match the following.
Feminist Work

a) Simone de Beavoir i) The Beauty
Myth

b) Virginia Woolf ii) Lettersto
Satre

¢) Naomi Wolf i) This sex which
is not one

d) Luce Irigaray iv) A Room of
one’s own

a b ¢ d
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86. Who among the following identified the
intermediate variables affecting fertility ?

(A) Kingsley Davis
(B) Notestein

(C) W.E. Moore
(D) W. J. Goode

87. Match the following.
a) Sharada Act 1)
b) Hindu Succession Act 2) 1856
c) Widow Remarriage Act 3

(A)
(B)
C)

)

—
N = A O

A~ O NN =T
w D = NN O

O

(

88. Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below :

Assertion (A) : Liberal feminism is
less of a theoritical
perspective and
more of a political
movement.

Reason (R) : They criticise other
feminists for ignoring
the progress made
with regard to gender
inequality.

(A) Both (A) and (R) are correct

(B

(C
(D

(A) is correct but (R) is wrong
Both (A) and (R) are wrong
(A) is wrong, but (R) is correct

)
)
)
)
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89. Who among the following is associated
with Development Theory of Feminism ?

(A) Patricia Hill Collins
(B) Sandra Harding

)
(C) Carol Gilligan
(D) Ann Oakley
90. Match the following.
Thinker Theory
a) August Comte i) Theory of
Realistic
Development
b) Dudley Seers ii) Theory of
Unequal
Exchange
c) W. W. Rostow iiiy Theory of
Economic
growth

d) Arghiri Emmanuel iv) Theory of
Positivistic
Development

a b ¢ d

(A i i il v
B)ii v i il
(C) iv i i i
(D) Wi @i i v

91. Rising unemployment in urban areas is
called as ‘Push back’ by

(A) Arther Lewis (B) Ashis Bose
(C) N.V. Sovani (D) K.C. Zacharia

92. Who considered the growth of per capita
production as a symptom of development ?
(A) W.W. Rostow (B) W. A. Lewis
(C) Harrod Domar (D) Todaro
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93. Choose the correct answer based on the

two statements Assertion (A) and Reason

(R) given below :

Assertion (A) : India’s sex ratio is
higher than 1000

Reason (R) : India’s sex ratio is

unfavourable to

women.
oth (A) and (R) are correct

) B
) (A) is correct but (R) is wrong
C) Both (A) and (R) are wrong
) (A) is wrong, but (R) is correct

94. Which of the following approach used by
Paul Baran for economic planning ?

(A) Capitalist (B) Socialist
(C) Liberal (D) Marxist
95. Match the following.
Paths of Development  Following
Countries
a) Capitalist i) The USSR
b) Socialist i) United States
of America
c) Mixed iii) India
d) Globalizationof  iv) China
capitalist
a b c d
v iii i
[ v iii i

(A)
(B)
(C) i iii iv i
(D)

[ i iv i

96. The concept of ‘Hyper-globalizers’
coined by
(A) Anthony Giddens
(B) Kenichi Ohmae
(C) Graham Thompson
(D) McGrew

%. 35 fug
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97. Wallerstein suggests four stages of the

growth of capitalist world system as

(A) 1150-1300, 1450-1640, 1650-1730,
1760-1917

(B) 1450-1640, 1650-1730, 1760-1917,
After 1917

(C) 1650-1730, 1760-1917, 1917-2000,
After 2000

(D) 1150-1300, 1301-1450, 1450-1640,
1650-1730

98. Everett Lee refers the factors that influence
the decision of people to migrate
i) Factors related to area of origin
ii) Factor related to area of destination
i) Intervening factors
iv) Personal factors
(A) iandii
(C) i, ii and iii
Who opined that the western liberal
democracy is the end of ideological

evolution and the whole human society
has to end with it ?

(A) Jean Francois Lyotard
(B) Alvin Toffler

(C) Francis Fukuyama
(D) Arnold Toynbee

Choose the correct answer based on the
two statements Assertion (A) and Reason
(R) given below.
Assertion (A) :

(B) iii and iv
(D) i, i, iii and iv

99.

100.

Development, progress
and evolution are
different concepts
to denote modes of
change.

Reason (R) : Change inthe structure
and culture are
largely evolutionary in
nature.

(A) Both (A) and (R) are correct
(B) (A) is correct but (R) is wrong

Both (A) and (R) are wrong
(A) is wrong, but (R) is correct

)
)
(C)
(D)
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